Agree or Disagree : The decarbonization of the economy will be feasible.

The feasibility of decarbonization has been controversial around the world over the last few
decades. However, I agree we will be able to achieve this goal in our economy for the

following three reasons.

First, the growing number of electric vehicles is expected to play a significant role in reducing
CO2 emissions. Auto giants, including Toyota, have been developing eco-friendly cars at a
lower cost, and they will soon be the same price as conventional ones. Thanks to advanced

technology, eco-cars will be more accessible for ordinary citizens everywhere.

Second, education will lead more people to become aware of the importance of cutting
greenhouse emissions on their daily lives. For example, an increasing number of students at a
certain university have been tackling the environmental issue after a prestigious
environmentalist delivered a lecture regarding this serious problem. They have been trying to
use public transportation, reuse daily necessities or turn off electricity as much as possible.

Awareness may be a small step but it can bring about huge success.

Finally, renewable energy sources are likely to help make decarbonization happen in reality.
More countries have been accelerating the introduction of solar power for individuals,
companies and educational institutions. For instance, Japan has decided to provide them with

sufficient subsidies for the installment of this alternative energy source.

In conclusion, I believe the decarbonization of the economy can be realistic for the above three

reasons. (234 words)

Double-checked by Chris (British)
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